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MR DIRTE (5l=8)

{eEET—2(F2.1, p.38)
[RETT AR 1 ETHE T A2 1D B S DOHEBEZREERTE

(1)9%,*-“1&@&*141&.:&(/) SFHEEH)
e ER (H,y) : BAEBEIE0TH S (p = 0)
JFEERER (H,) : BHEBEIZ0OTHL (p = 0) MAIRKRE

(2) REMITEDZER (r:Z2XRMEE)
rvyn — 2

t =
V1 —r2

(3) BEKEDRTE
a = 0.05 (5%)




(4) REMT=NEIRIE

> ##atT A1 <-toukeil,1]
> #fEtT A 2<-toukeil,2]

> EARMEE<-cor(ffatT AN #RETTAR2)
> EATHE
[1] 0.749659

> YT LY A X<-length(fHztT A1)
> YT AR
[1] 20



>t F<-BAEBE sqri(H T ILH A X-2)
>t F
[1] 3.180534

>t EE<-sqrt(1-4ZZ2 A HEN2)
>t E
[1] 0.6618243

> t%ﬁﬁ+%<-t§j\%/t§j\ 3
> tfiit =
[1] 4.805707




(5) 1REREZDEHOAIRIRDRTE
REMT=tXIFERER(p = O)@%t’C = H)
df =n—2=20—-2= 18Dt fIZHES.

Kt

> qt(0.025, 18) #EHHE18DtH 1 T FMAIFEZEA
0.025&75 45t 1{E

[1] -2.100922

> qt(0.975, 18) #EHHE18DtH M T T AIFEEA
0.975L755tD1iE

[1] 2.100922
> qt(0.025,18,lower.tail=FALSE) #& HHE18Dt5 % T
L BIFEEAN0.025& 15 Bt

[1] 2.100922
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=F KI5,
t < —2.100922, 2.100922 <t

BREMTEDEIR{E= 4.805707 > 2.100922

< =
IRERER X EENEIND
==
[HEtT AR IO/ REMEFTAR210F R OBEE R
HIS%KETHETHS.
==
HENH D



> curve(dt(x,18), -3,3) BHHEE=18DtH %
> abline(v=qt(0.025,18))  FEK#E=5%DZEHiF
> abline(v=qt(0.975,18)) (F{AI=2.5%, L{81=2.5%)
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dt(x, 18)
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0.0
|




PIEIZKAIRTE

> pt(4.805707,18,lower.tail=FALSE) #BHE18MNDt%
1 CE{AIFEZEProb(t>4.805707) %5t &

[1] 7.08114e-05

> 2*pt(4.805707,18,lower.tail=FALSE) #m{EI#&E D71=
HIZ2{ET 5

[1] 0.0001416228

e

7.08114e-05 < 0.025
0.0001416228 < 0.05 (& /K#E)
<
t=4.805707 %5 HHERIIFEIKE (5%) LYHLELY
<
IR ERERIIZERIND




cor.testlZ&L A& FE

> cor.test(#E 5t T AN, #ETTRK2)
Pearson's product-moment correlation

data: #5tTAK1 and #(stT A2

t=4.8057, df = 18, p-value = 0.0001416
alternative hypothesis: true correlation is not equal
to0

95 percent confidence interval:

0.4596086 0.8952048

sample estimates:

cor
0.749659
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RAVWSAEICKYBRER K. tIHRET=EISHITHFE
MRZEKRODFEE, plEERAWVSHRZETA L.

BL, BE/KEES%ET S.

(B) t.testBE#h#%.
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(A) BEED124~12THIZTHIN TV DD TE

RAVWSAEICKYBRER K. tIHRET=EISHITHFE
MRZEKRODFEE, plEERAWVSHRZETA L.

BL, BE/KEES%ET S.

(B) cor.testBdzi7z)

LEERE L.

INWTREZITLY, (A)DFERE
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